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AR ARG SE, S8 THEA=MENER, BA=ARMER, 2% =K
Mol Ak, A BRI, ARG 2 A B R i A 5 = A R I .

27. [EHZRY (DB A, BEAMLIEAy=—x+bx+c, B

(-1)2—b+c=0 b=1
{—22+2b+cu~ ﬁWﬁl{c*z

SRRy = —x® +x + 2
(2)id £ AF AM/CO % BC HUEEICER T i ML £7 D 1 DN/ CO % BC T KN,
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WHEZ BC HIBET 20N y= kx+b,

[2k;~=£?2= Uﬁ%{kbi_zl

SCHE BC IRty = —x + 2
“A(-1, 0)y LAM=(-1)+2=3
“"AM/DN, ..AAME+~ ADNE

. AM _ AE

""DN T DE

T AE=3DE. ..AM=3DN

#D(m, —m?+m+2), MN(m., —m+2)
SDN=-m?+m+2—-(—-m+2)=-m?+2m
S3(-mP+2m) =3

#8 m=1..".D(1.2).

3EM(xy, —x2+x1+2)s N(xz» —x2+x,+2)
**MN/BC

S B MN [T Ay = —x +m,

sl WESEFR e _

Soxg =2

" C (0, 2), B(2.0),

S B PC MRRHT Uy = kyx + 2, PN ST Uy = kox + ¢,
“PNZHAB, S22k, +t=0, .t=—2k,,

S PN BN ANy = kyx — 2k,

So=x P 2=k +2, —x2+ 0 + 2 = kyx, — 2Ky,

i-*kl = —x1 + 1: kz = _xz e 1

b =kyx+2 2ho+2
praf Y =R 2 g2
= kzx = 2.‘:2 ka—ky
s 2ka+2 — —2xz=2+2 S, —-2xz S
- ka=ky - —-Xa4X1—-2 - —-2X3 -
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